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The government keeps the benefit but E 1
loses the support of the citizen. The
citizen opts for some substitute.

The government keeps both the benefit 0 1+L
and the support of the citizen. The citizen
suffers their loss in silence.

The government returns the benefit to 1-¢ L
the citizen and keeps their support.

The government keeps the benefit but E-c 1
loses the support of the citizen. Having

used their voice, the citizen opts for some

substitute.

The government keeps both the benefit 0-c 1+L
and the support of the citizen. Having

used their voice, the citizen suffers their

loss.





